EARAROBREBRT —5 XN—ZXBISH—F

2024548378 (B) 3@4LLI6H

R EEE R A S A EEEEE TR

[AXE%) 1 & :5,500,000  ~ 23&:2,200,000 337%&:1,400,000 . 4 7% :830,000 9 5 & :550,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS

= t 3 | REBE 2:03.5 5-5-5-4 | 36.4|83.9 | 4 | 418 |HEERT (M)

1]8]16) F1—7470—A 4520 ) o | @ e9n-Tu—9-2.21=7
RAUTAIW=FIO—L B:VFI HRAH NBEXT—T
== S i3 | BSRES 2:03.5  [11-12-10-10| 36.0 | 83.8 | 10 | 420 |ESEHE ()

2 12| 2y LA 5.0 =) G | @ eghTu—g—z. 11
RYNIFIAVEYR B:SASL—Y NIUAT7—1

< AEESE :03. -15-15- . . SEIERE ()

3 1| RI—YpT— 3| fe (3709375) 15-15-15-14| 35.5 | 83.6 | 3 21_73 i aid]

A:Bated Breath &:¥vA =7V ke
t 3 | BlREKR 2:03.7 2-2-2-2 [36.9| 82.1 | 1 42 | SEREER (EH)

417014 P RZILFIL 55.0 A 1/4) “10) | BRB

RPN/ TZYY BY N/ IL—U— LATT4S5T7—1n
< A EE :03. -7-7- . . FPHEX (E#)

A TESZINAEY i3 HaT 2(013)8 7-7-7-7 | 36.5| 81.0 | 12 :1_142) Lo

RTUYIRFYRELIIL B:oxF«vI 791 Il e
" LEMAH :03. -4-4- . . FRLHESE (3E5/)

¢ 3 | RX 7 L= i3 o (;(279) 4-4-4-4 | 36.9| 80.2 | 7 (4_32(; /T:é%&%z

RINAVRATERTwY 87 HY BE RS
< I\MER :03. -5-5- . . FEBEA E/H)

- 6 UZILErs9— [B] 3 | At 2(70?:? 5-5-5-4 | 36.8| 80.1 | 13 z:gf b

R:d—=ILRYY S 8:X—F BERXIY R
S A0 t3 | SHER 2:03.9  [15-15-15-14| 35.9 | 79.9 | 7 | 414 |HIIRE GEH)

8|5[10[ 7N 5.0 N w) | @ FYF-L-vvz
RWFIWAT =L B:UPUBRUR J—HUTr—I

= 4 3 | AllfsicA 2:04.0 13-13-13-13| 36.2 | 79.0 | 2 456 | BERIA (%)

9/5/9| Y= 55.0 (/2 o) | @ vyF-L—yvz
R:RySAYT B:y—F4R (\) #B81—-RU—yavEEI7

SPo~ 4 3 | KHEEE 2:04.0 10-10-10-10{ 36.5 | 79.1 | 15 426 | KB/ @)

1 AREEPZ: 5.0 e (g | IS

Ri5TU—F4 B:YINEa1—F« e
= < BLUTA :04. -10-10- . . HERER (E5H)

1l1l1lvaszu—y 33 R 2(10;,2)1 11-10-10-10| 36.5 | 78.1 | 6 ?+522) R o

RY NI/ TSIV B:T7—97U— REHIS
S ~, = — EIEFARY : -1-1- BRE GEH)

1 5 RYASIY VTS 4 3 o %%; 1-1-1-1 | 37.4| 785 | 5 g e

RIIET7RA7 B:ITHAFITv b MEZSY R
_ _~ B3 | EFTPISKER 2:04.1 14-14-13-14| 36.3 | 78.0 | 17 | 408 |f{EEESHEs (G5d)

121 8|18 AE—IWIA—=2 55.0 (@) w) | B vraoKs

Rib—EYS— B:F-IN—h By s
T =me . _7-7- BFFE (55

1B 4| s ResTFUT 4 3 55?(3) 2(.10/42.)2 7-7-7-7 |36.9| 77.3 | 14 21_442) nﬂg_ €S5)

R:N—EVIv— 8:)NNyyaF)LFUR P vy cives)
s JERTI 4t 3 | #AE 2:04.6 17-17-17-17|36.2 | 73.1 | 9 452 | PIRE GEH)

1511121 E FTA—-hv 55.0 212 (-) |ZHEF
R h/059Y B:N\—E—F IS[itke)

—_ ) —— 4t 3 | ARGt 2:04.8 7-7-7-7 | 37.5] 72.0 | 16 | 430 |ERWRSB EH)

16/ 7|15/ 2 1 —2IL—3 55.0 a1/2) (-g) | EREBKE—ER
Ri—5—=IvF B:IA—=VFLLY b TERBHES

_ i 3 | REN 2:05.2 2-2-2-2 |38.5|69.3 | 11 | 406 |BAEX (EH)

Y« BEZZEI 54,0 G5 Gy |FEHIE
RVIWN—RATF—b B TI—RY/T7 RUART—TI

< [1® HiDE - - - - - FHE (/)

| 7|13 F¥—2 R7wv>F i 2 5.0 (B2 (4-628) IRLT 1Y
R:FRF BRAY3Y F—U— - Iv/\ - T7—LBRR

[ BN

A 49.0-36.8

NOVI AL | 12.6-11.6-12.8-12.8-12.5-12.2-12.2-12.2-12.4-12.2

® I—J—@BIELL
13—~ [5(,143(6,16) (4,15,17)7(1,12)9,18-(10,11)-2 13
23—3— | 5(8.143(6.16) (4,15,17) (1,7)12,9,18(10,11)-2 13

30—F— (5,8,14)3(6.16) (4,15,17) (1,7.12) (9,18) (10,11)-2 13
41—3F— (+5,8,14) (3,6,16) (4,15,17) (1,7,12)9(10,18,11)2 13
@ IRE
& B 16 1,200 | [ 94 F 12-16 3,460 | | & = 6-8 5,390 | | 3:&& | 11-12-16 50,640M
& B 16 440M 11-16 1,340 | | 5 &= 12-16 17,500M3 | | 3= | 16-12-11 392,740H4
12 1,660 11-12 301 | B & 16-12 44,060M
i 480M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




